[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

track x?

9] 1%} 4] 0
3 3 3 g
g g g 8
[ [} Q
= E10 8107
=
=]
o
=] e S
T I T
4 o4 o
0'“()2468101214161820 0"02468101214161820 C(J 4 6 8 10 12 14 16 18 20 C()2468101214161820
track x2 track x2 track x2
T BeM—oTIgTaSte tHuSt—etatyHotpt
| N of reco track VS»SI ——— B —m&tl&égpe%mgiemszp@ algfqtoolzooéjetalpmolps
2 L
o [}
g g
. ©
S
=] o
T I
4 o4




	Contents
	Page 1


